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1 JGHe kg 0. 7143kgee kg
2 Pt L kg 0. 9000kgce kg
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5 ER kg 0.9714kgee kg
# Rl kg 1. 4286kgce ke
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8 15l kg 1. 4T1dkgce ke
9 i kg 1. 4714kgee kg
10 i kg 1. 4AT1kgce ke
11 #FE kg 1.142%kgee kg
12 JEH kg 1. 4286kgce kg
13 EEES kg 1. 7143kgee kg
14 &S kg 1.6714kgce kg
15 MRS n’ 1. 3300kgce./n’
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17 BALETS n’ 3§$ﬁﬁiﬁ
18 RIS )
1% SRS n’ 0. 1286kgce./n’
20 al BEIPES n’ 0.1788kgeen’
21 by ElECERES n’ 0. 651 Tkgee./n’
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25 f1 RES n’ 0. 3671kgee./n’
26 HE n’ 1. 4286kgce 0’
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30 =S (RE kg 0. 1286kgce kg
21 ok t 0. 0857kgee <t
32 Frak 1 0. 485Tkgce 't
33 BEk t 0.9714kgee 't
34 EETS n’ 0. 0400kgee < n’
35 i, n’ 0. 0300kgee./n’
36 a5 n’ 0. 4000kgce ~n’
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